
ESTRUCTURA : GRUPO ENCENDIDO
 

GRUPO ENCENDIDO

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description Ref. Título Código
1A Conjunto

bobina de
ignicion

completo

157-00035

1 Bocina 157-20040
2 Tornillo

M6x12
157-80006

3 Tuerca M6

4 Relé 157-20101
5 Tornillo

M6x12
157-80006

6 Bobina de
ignicion

157-20041

7 Cable de
bujia

157-20042

8 Tornillo
M6×65

157-80012

                        1 / 2

https://www.cprrepuestos.com.ar/images/stories/virtuemart/product/grupo encendido.jpg


ESTRUCTURA : GRUPO ENCENDIDO
 

Ref. Título Código
9 Tuerca M6

10 Regulador 157-20043
11 Tornillo

M6×25
157-80008

12 Interruptor
de

arranque

157-20044

13 Tornillo
M5x16

157-80022

14 Destellador 157-20045
15 Abrazadera 157-20046
16 ECU(no

incluye este
modelo)

157-20047

16 CDI 157-80037
17 Tornillo

M6x12
157-80006

18 Rele de
arranque

157-20048

19 Tuerca M6

20 Base del
rele de

arranque

157-20049

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

